
$x^2 + 1$

\[ \]

\[ x^2 + 1 \]

x \lt y \gt z

A_{x} A^{y}

a = b \neq c

\frac{x}{y}

x \times y \cdot z

\alpha, \beta, \dots

\left( \sum_{x=1}^{\infty} x^2 \right)

My name is {name} My name is Bob

\var

$x + \var{a}$

\simplify

$\simplify{ {a}x + {b}x + {c} }$

$\simplify{ vector:x }$

$\simplify{ vec:x }$

$\simplify{ unit:v:x }$

verb:pi

op:x

v:x

unit:x

dot:x

matrix:A

$\simplify[rule1,rule2,...]{ expression }$

unitFactor

unitPower

unitDenominator

zeroFactor

zeroTerm

zeroPower

noLeadingMinus

collectNumber

simplifyFractions

zeroBase

constantsFirst

sqrtProduct

sqrtDivision

sqrtSquare

trig

otherNumbers

all

fractionNumbers

rowVector


